
2013 1 7  

 

 

 

 

 

 

 

( ) 

1  𝑚𝑔sin 𝜃  𝑘𝐴  

   𝐴  
 𝑚𝑔 

 𝑘 
 sin 𝜃 

 

2  𝑥  𝑘𝑥  

𝑚𝑎  𝑘𝑥 

 

3  𝑇  2𝜋√
 𝑚 

 𝑘 
 

 

4  

(1)  

𝑥  𝐴  𝐴  

 

 

 

 



5  

 1 

 2 
 𝑘𝐴2  

 1 

 2 
 𝑚𝑣2  

 1 

 2 
 𝑘𝑥2 

 

𝑣  √
 𝑘 

 𝑚 
(𝐴2 − 𝑥2) 

 

6 1  𝑣1  P2  𝑣2  

 

 1 

 2 
 𝑘𝐴2  

 1 

 2 
 𝑚𝑣1

2  
 1 

 2 
 𝑘(

 𝐴 

 2 
)2 

 1 

 2 
 𝑚𝑣1

2  𝑚𝑔
 3 
 2 

𝐴 sin 𝜃  
 1 

 2 
 𝑚𝑣2

2 

2  𝑣1  

𝑣2  
 1 

 2 
𝐴√

 15𝑘 

 𝑚 
 

 

(7)  

 

 

2  

  𝑚  𝑀   𝑚  

𝑚  𝑀   𝑚   0 

𝑚  𝑀   𝑚  

𝑚  𝑀  

𝑚   𝑀 
𝑣 


